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(i) lj'=ﬂ==x={.lnr)r={|'
{ﬁj(x—lj{x.—'l}‘=ﬂ'=&z=l
(i) Al relations are functions;

{rv) |x n|£J:-a-Jsusu+l

i y
IVh A Sequence i convergent if jes

nth term
tends 1o 0 in the limit,
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(b} Let A be the sef of all even numbers, B be the sel
of positive integers, C be the set of negitive
integers, D be the set of rational numbers and R
be the set of all real numbers: Answer the
following questions ;

(i} Write the complement of set A in el
notation form i R is the Universal set,

Is 51 2 member of set A of its
complement”?

(i) Find A w B and A ~ B
{iii) Find B v C
{iv) Find complement of D

{¢) Find asymptotes o the graphs of the following

functions ;
I f(x}: 2+-3|x
1

(p-x)a-x)(r-x)

(d) Define domaln and range of a function. Find the
domain and range of the following functicns!
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(i) f(x) =[x - 1| (x:= 1§

(i) flx) = 1 + 2zl
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{a} Solve the following inequalities for p:

p-l,,

(i) p+l

(il lcl}-{!.!.-r_l
Pisi wh

fili} |2p~3jz1

d
£ and

al
{b) Find i dxir for the following function:

}'=1"[ﬂ+hﬂ}

(¢) Using produet rule of differentiation. what
relatinnship is established between averape and
marginul functions? Explain your snswer i the
general average revenue funciion.is AR = f{()).
Also il AR = -20° + 150 + 7 in its suitable
domain, find MR function using the average-
marginal relationship.

{d} A firm earns 100 lakhs in the current year. Afiter
that, its earnings increase by 10% every vear for
the next nine years,

3123 7

(i) What will be the total earnings of the firm
after 10 years?

(it} What will be the earings of the firmlm
the tenth year? If the discount rate remains
B% throughout the period, what will be the
present value of the carmings of the tenth

yeur?

{¢) Evaluate the following limits ;

- 11
(1 Timy,, [;_ _1]

X

x—5

(i) fmyy* s

% =2

X
(i) limg o

(f) Determine if the following converges or diverges;

n’ -1
(i) The sequence {n: = 2»

il
{il} The sequence {{—”n 2_,,}

P.T.0.
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(i) The series (1 +ry? + (1403 + (1 +r)?

F e anan anowhere T i & positive

constant
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(i) l{—l}“"l.}

a0

(i) e (1 4y (LR e L
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¥, Allempl any one part. [13=1=13)

ta) Considering the following partial market equilibrium
model -

=0,
Q= id:— 3p =P
Q. = -2 +3P
Identify the endopgenous viriables in the asbove
model and solve for their equilibrium values using

#ll the three methods mentioned below, Also check

if the solutions from various methods match each
other or nol.

(i) Algebraic method using Quadratic formula,

3123 11

S ¢
(i) Graphical method by drawing wraph @
single quadranc function where guadratic
function s derived using gguilibrium

gandition,

i h
(i) Graphical method by drawing the g,r-ap 5
of guadratic demand function and linear

tian in one graph.
supply func [“5_,1:.13}

i T5:
hLTERNATIVE QUESTIUN FOR PWD STUDEN

() A1) Find rational reots af the following equations,

if any

B
fa) & +%n1-§x*—ﬂ"

() 8%’ +6x’ =3 =1=0
) ) e 5
(i} Find & pubic eguation with roots 3, 2 and

(i) Find a guartic eguation with roots 4, 2, -1
and 3

{b) Consider the function defined as
AEL
flx)= =
(i) Desw the graph of fix)

P.T.0.
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(i) Goes lim, . fTx) exist? Explain

it} Is %) continuous al x = 07 What cap vou
sy about difl’:rcnliah“irr of fix) ot x =7

ALTERNATIVE QUESTION FoR PWD STUDENTS:

Consider the function defined &5

2
X +x-—42
Efx)=C0 T
f } -7

(i} Find lim___ fix),

(i} Show that the function
x=T

is discontinuoys at

{iil) What type of discontinuity is {17 Explain,

() Can we redefine the function to make it

continuous everywhers?
(L R iy
(%) Freafafm HWF WA T e e ¥
EQ'-
U.j = U'.
Q;= 14 —3p_ p2

Q,=-2+3p
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Each part carries equal

| 4 Attempt any Tour parts,
(6=4=24)

marks.

ply funclions of commodity

(a) Let the demand and sup
that hus only

{ and commedity 2 in-an cconamy
jwo commodities are glven by
Q, =3 - 28 +3h
Q=1+ 3P
Q= 20 # P, —6F;
Q.= 5+ 3P

y demanded of cach

In equilibrium. gquantit
Iy of that

commedity 15 equel to the supp

commodity, e, Q= Q, for =11,
Wwrite down the equilibrium conditions for the twa
commuodities and solve for Py, Py @y and ), using

Cramer’ s rule.

{b) Find X such that matrix X satisfies the equation:
iy AN =2X + B
222 32
A=l2 3 2),8=11 0 ul
sz |
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(i) For what values of @ is the matrix B - al,
equals the matrix B + ol where 1, is the
identity matrix of order 2' and

-2 3
B=
i
(¢) For any three arbitrary matrices A, B and C
answer the following questions:
(1) Is AB = BA? Why or why not?

(iiy Does AB = AC nccessarily imply that
B = C7 Explain your answer with the help
of an example {Consider matrices of order
2w 2}

(d) When is a set of vectors said to be a basis for the
two-dimensional space, R*? Show that the vectors

2 1
u =[3] and V=[4J form a basis for B2, Can we

|"2
conclude the same about the vectors u ItiJ &nd

ol

Il]? Explain,

3123 17

(e) Consider 4 n * n matrix A defined as:
A =oppTpyIpt
Answer the following questions |

(i) Must P be a square matrix? Must PTP be

i Square mairix?
(i1} Show that matrix A is idempotent.

{iii} How would your snswer in-part (i} change
for the matrizx B = [ — A?

Ll Rl ol TR R
#i

(®) @ o PR oo | o 2 @ oW sl g
T O ¥ snfEmen A R et G @ wed 2

G =1+ 38
Qg = 20 + P, - 6P,

Q= 5+13p,
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(i) =0 AB = BA 7 =00 m Fa AR7
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1. Answer any 5 parts, {15)

() What will be the relationship between two

(it) Why does trade off arise between incentive and

(i) Explain output effect and price effect on a

(iv) What is the difference between economic cost

{v

(vi) Explain why two IC can never imtersect with

2 o

goods whose cross price clasticity is negative?

Why?

equality?

monopolist’s total revenue.

and accounting cost?

Explain why the AR & MR curves are honizontal

—

for & firm in the perfectly competitive market?

each orher;

4671 3

(vii) Explain the relationship between price elasticity
of demand and total revenue.

Rl 5 gl & T A

(i) 2 wegslf & & dwir o Foret e+ s
= 47 s

Wi w o i

(iv) anfilfe wre s Bwree mmm % s s 39

(v) = wt i of sfven® aom # v w2 R AR
sie MR w5 dfis W B ¥
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it 5 W T

(vii) e ot S dr sl == T 3 A9 Ty o
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T (i) Define dead weight lo=zs of a7 lax.
Diagrammatically explain how does dead weight
loss of & tax vary with

fa) Demand and supply elasticities?

(b} Size of the tax? (5)
¥

(i)

(it}

Culeulnte the dead weight loss of a manopoly
with a demand curve, P = 12 — O and the
marginal ¢ost curve, MC = 20, where P is the
per unit price and ) is the quantity. (3)

Using the concept of economies and
diseconomies’ of scale, explain the shape of a
firm's long run averige cost curve, How are
the nhlnrt un aversge cost curve related with

the long run average curve? (7}

m % W AT wW W uaiE w9 wdT T A
wErey & = w ¥ A Wi efRw o fisr
o #

{®) = ik syl S

(@) W WERT

8671 5

(i) WA W, P12 - Q i S e MC =20
%mwﬂm%hhmﬂmﬁ,m P
Wit T = R s g owEn
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aﬁﬂlﬂﬂﬂ.wﬁﬂsﬁmmmﬁmﬂ
e A W R Srew ) s e s
den o wE AEEE s a4 s e
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3. (a) Use indifference curve to show how an individual
decides 1o allocate his/her time between work and
leisure. Will he/ she necessarily work more if the
wage rite rises? (4}

(b} Buppose that the government imposes a binding
price floor in the wheat market, What would be
the effeet of this policy on the quantily of wheat
bought and sold? Would the total revenue of the

farmers increase or decrepse? Explain. (4

ET.O.
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(€)@, = 90 - 6P
Qg =20+ 3P

What is the elasticity of demand and elasticity of

supply at the equilibrium price. Caleulate the

consumer surplus, producer surplus and total

(1) T e et o Ry o g
i o o s v e o 98 e

'ﬂ'!!f m # Ead .m"‘f‘.“‘m ‘1‘5::*E ‘“_' ®
o gk ? e A T
pee)
(7 Q,=9%-6P
Q=-20+4p
e e e s
# awim FfEw, SRS #fiRn s 5 few
o e W

ll' ﬂ&?l 1 i &

retirement age of workers leads
ifupp:;- of lmm Bﬁmﬁ its

wmu the marginal product for each
ﬁﬁmﬂw&m

hJ

"WMT*@H;‘IM for §5. Caleulate the
f the marginal product of each

mﬂﬂmuiim MM}
‘the firm will hire?
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(it) e for e e e g o g
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#iaft wy X wd Y ww v R s A
#, ® PPC w1 MR ww ERmE

(iv) %70 Wewr =t ofonfis =% 5o w8 e e
wfe § W ¥ A e W g e w47

{a} Sania is awake for 100 hours per week. Using
one diagram, show Sania’s budgel constraints if
she earns 86 per hour, $8 per hour and $10 per
hour. Now draw indifferénce curves such that
Sania's labour — supply curve is upward sloping
when the wage is between 36 and S8 per hour,
and backward sloping when the wage is between
58 and $10 per hour. {8}

{b} John buys anfy milk and cookies,

(4) In year 1, John earns $100. milk costs $2
per quart and cookies cost $4 per dogen,
Draw John's budget constraint.

(ii) Now suppose that all prices inerease by
10 percent in yeuar 2 and that John's sitlary
increases by 10 percent ax well. Draw
John's new hudget constraint, How would
John's optimal combination of milk and

‘eookies in year 2 compare 1o hiy optimal
ormhination in year 17 7

(%) Wi oft 7w 100 W& wmooh 8 ow sitw

mm,m:ﬁmmmmuﬁ
TS W oven ss Wi wo sk s oRr wor
Miln-ﬂmihnhmmwmm
.wm-mwmmﬁrwgmir,m
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Tan '
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{a) What is econamics? Explain the three principles
A

of econpmics:

f imization ot the
jneiple of optimizd
(b} Explain the Pr
(10.5)
AR

Lol

3091

3

(@) sl w T & Fras o mwEn =it

(a) Show asing disgram, how a country, and its sellers

and buyers benefit/lose afier apening up for free
trade when

{il it hecomes a ner exporter

(1) 1t becomes o net importer,

(b) What are strategic pames? Explain with an

example. {10.5)

(3] 3utm W o v Bew B o v 3w ol ol

Fasmnalt ol Fansi = o e F v mes T
wv sEf B R T

(i) =r 7w w@ Pofes o= 7w #

{ii) 7% e FwmwEs = wm f
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Y. Show graphically the effect of the following on

equihbrium gquantity and price.

{1 Teghnological advancemant leading 10 lower

marginal cost.

{ii} Increase in the price of a complementary

good,

{iii} Increase in buyer's income (assuming that it is

aninlerior good) (5.5.5)

Wﬁmymﬁmﬂﬁmﬁrhﬁwﬂ
TR TEiEY)

(o) wosieft S % wE fEE A A

{n) woF = & W W R

3091+ 5

(i} e = sne # gfa (7w TR A owe e wg
)

(8] What is 4 buyer's budger set? How does it change
if price of one commodity incresses celeris

paribus? Expluin with diagram.

(b} What is meant by consumer surplus? How is. it

calculated? Explain with diagram, (8.7)

(=) @ 91 W 3z o 27 AR vE = oW g @
il % W T AT W # A ue B wwe wm
27 tefas afitn wmEEn

(v} susem sfine = own o 27 e o @R

w Rt wite e

(a) Derive the supply eurve of & ffrm in o perfectly
competilive markel Also exploin the: shut-down

condltion.

P.T.O
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(b} Derive the Long run supply curve for an individual

firm diagrommatically. {10,5)

(o) i e = 3w v W g T e R
wr-TER W feafy S ot mmen S

(=) v =l wt W i Sl oF o e
# wpr S

(a) Explain how invisible hand eéfficiently allocates
production within an industey among different

plants,

(b} Explain how deadweight loss arises in case of

price controfs (9.6}

(%) wwen wE for e v sre e ovw s 3 e
Rfiew i & W e W wwEeeEE . aEeT

wam #

3091 7

(=) == =3 B ey Frown 2 wo 6 am v owly (e
) T ad o

What do vow mean by rox ineidence’ How the
elasticity of demand and supply delermines the
mcidence of txes on consumer and producer expliin

with diagram? {5.10)

A A S v e E o i ol o e e o
TN i I O wOwE o e w e

TR

Expluin positive and negative externality with example?
How Pigoovian solution work (o correct Both positive
and negative externalisy’? Explain by using approprise

diagram. (3,10
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{n) Drow & circular-flow disgram. ldentify the parts
ol the model (hat correspond Lo the Now of ppods
and services and the flow of dollars, {5

(b} Why is trade-off unavoidable? Does il have nny
relutionship with scarcity? (5}

(el Iz pheolute advantage or comparative advantape
maore important for trade? Explain your rua:pning
uzing the example. (5}

(8] o qew - wwE aTtw weEw) AT W o e o
B W T R M F owEw sl #e
WOE W e #

3548 3

(@) F=-t= softerd w27 = wew e B owN v
R’

(@) = = & faw ool A o geeeE A sl
we BT R S mEISE R wwt e o e
=i

Explain using diagrams, How the impact of hnposing
the (ax on cigireltes will be diflerenl friom creating
awareness aboul bt harmiol effecis thy

A I wE e W R Bl @ ow me o
W g miSmren el ® = A aresT g A
#3 firm #Am

Using the concept of coonomics and diseconomies of
scale, explain the shape of a firm's long run average
cost curve. How arc the short run average cost curve
related with the long run average curve? (%

e s e o feie s = oo
ot WY, R WA S S it A e H e o)
=l W FEEE s A e e st aw
# fre wow vl #7 ‘

b e
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4,

() Which couses a shortage of @ good—a price ceiling
ora price Maor? Tustify your answer with a graph.

(h] Citven the demand and supply eurves of potatoes,
Qd = 500 — 37, Q5 = 10P — 400, {Qd is 1he
yuantity demanded, Qs is the quantty suppliod and
I is the poce of potatoes) find the equilibrivm
price and quantity of potatoes. Determine the
quantity demanded, the quantity supplied and the
quantity traded of potatoes as & result of price
ceiling of Rs: 50 (5

(&) Markel demand function i given by Od= 00 - 6,
Market supply Tonetion is given by Qs = 4P — 20
Retermine producer surplus, consumer surplus and
total eeanomic surplus at the equilibrium price.

(6]

(9) & vw =g @ o oW e sl A

= T A w7 et e o gl ow e
wa Wi

(%) g ot s sl A Wt gw, Od = 500
5P, Qs = 1OP - 400, {Qd wm <t wrw &, Qs awyfd
oo & dh P s W e #) we  a
AW UA A I S0 v s e fer 9
witwstEren A o wd wwn, s A owd st o
S A P i o

3548 . 5

.

{#) = = T Od =90 - 6P s e W &, =W
ﬁmm--np-znmﬁmmiuﬁgﬁqm
w el s, oime s i wm aids
Fftrdm = faim =i

{4} Démand ond Supply functions are given as
Qd =80 2P, Q5= P— 15 respectively, Caleulate
price clasticlly of demand and supply ai the
equilibrium price. If a tax of Rs, 2/unit is imposed
on sellers, caleulate the effect on the price paid
by buyers and price received by sellers, {8}

(b} I the government allows Indians 1o import ahd
export textiles, what will happen 1o the price of
textiles and the guantity of textiles =51d in the
domestic textile market? (7

(%) ww s I W @ Qd= 180-2P, Os=
P-15 % w1 % Ry v #1 wger dm w W ok
smqts W W e W e ) o AR
2 w/gRE @ w2, @ owie aw
PR o A s Al s e v
ﬂmﬂﬁﬁ'l

(3) aR woER A W v aww s B w9
mﬁ:ﬂl,ﬁrﬂ'uﬁqﬁmaﬂnﬂqmm
W AR AR ast W) w o oww w

P.T.0.
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(8] A person consumes two goods wine and cheeso, i

The price of cheese rises from R 60 to Ra. 100
per Kg, while the price of wine remaing Re. 30
per glass. For a consumer with & constant income
of Rs: 3,000, show what happens to consumplion
of wine and cheese. Decompose the change into
income and substitation effects, {(]

{b) Draw the indifference curve for someane deciding

—

f

L

3548 \ T

£

how to allocale time between work nnd lefsure. |

Suppose the wage Increases, Is il possible that
the person’s consumption would fall? (5)

(e} Is it possible that sevings falls duc to rise in
anterest rate? 1 yes then show it using the suitable
diagram. {4)

(5) v wite @ wesl o wow sl o oA e
1 e ) e wed @ we @ B os0 F % 100 TR
afs fielt, wafes we = o R w0 g hoan o
Fireme w8 ot R s mm i @ fw) 3,000,
fren] fr e st i € daw w wm fr #oam
st s o # oftads W Bafe S

(@) we st sermw W e we sl wer w Bk &
Tt fomd =fem = o s = = e A
e T B ww W v R =fte 9w e
e ol

() e o e g o et
2 o o A g Rew o 9 e

{a] “Difforence between econsmic cost dnd necounting
cost i the mmplicit cost.™ Do you agree with (hie
stutement?. Expliin, {4)

(h) Draw the tinrginal-¢ost and average-ioial-cose

curves for a typical firm. Explain why the curyes
have the shapes that they do and why they cross
where they do, (hl

{e) The demand for port workers is given by 1he
‘equation W = 80 - 30 and the supply is given by
W =30 + 2Q where W ix the daily wage rate and
Q is the quuntity of part workers. Afler a lengthy
#trike, the Port Authority accedes to the wirkers*
demands and enncts w minimum wage of Rs 62
per day, What (s the impace on equilibrium wage
and quantily snld? 15

{3) “anffm mmm sl derEs mam @ dm oww B
ool TR B L R S

() o= R o % AR e AT e - -
wF a5 W B owel F s w oA F o R
wir & ok we ww Fown o uw o B

P.TO

t
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(/) =ewme sifim ot s e W=380-30 %0 & wf
ol i Wel0-20 @ R um W i
o TR s Q wEemr wfre o e v W
e & a9 s Al o WA o e
forar aflf =g 39 ® g WA e Pty wr R
YT WgEE Wt s e v W o o e
A

8. 18l Show that value of marginal product of labor s
alse the demand for labor. What are the facilors
thal affect the demand for labor? {5}

(b} Write down the conditions for shutdown of firm
and eait from the industry. Are both saine? Explain
with the help of diagram. (71

(3] ﬁmﬂﬁ?wﬂ%?ﬂmw?ﬂﬁwﬁﬁu
GICER R ORI S S e S

() Wﬁ'&ﬁiﬁaﬂfmﬁmﬁmﬁﬂmﬂml
W T T AR f ST W @ e i

{1000}
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{c) Explain why correlation doecs not always imply
causation. Identify cause and effect relationship
(il any) in the following cases

(1) Drought and rise in price of tice.

(1} Female education and lower fertility rate.
3]

(%) Frfafem & | weiw amd = e e i s g
wiredl wan ¥ =9 S wee ofta s e oW s
T o R

(1) =w =W W Io9 =@ =

(i) wewars i s & e S I g
¥ Fifm R ww F Feew owr

(i) wearm & sort o o Wl B EwA

(v} Fatt, setwire st v o = i @ W FoEm
F

(%) =z =t fy ovdaa w1 w0 w0 - wR W
Bien #1 Freafafer wpsl § s S v wen (R
=é o) i wrwm w

(i) %o s w=m i o & i
(i) == i s B o =0

{3,500)
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il

13

Explain why in the short run eguilibrium of the
perfectly compétitive fiem price is equal to marginal
cost. while in the long Tu cquilibrium price is equal

to marginal cost as well as average cost, (&)

mﬁ-miqﬁﬂmﬁﬁ o 1 A A
mimﬂﬂi.mmiﬁgﬁmm

W & W - g o & O R
Why do the aveTage and murginal revenue curves forr
4 firm in & compentive market horizontal? ihl

wﬂﬂmiwﬁ%ﬁﬁﬁmm
= e = E

Why do firms enter an industry when they know that

in the long rob sconomic profit will be zero! ]

mﬂaﬁﬁiﬁfﬁmﬂiaﬂam?ﬂmﬁﬁ
aﬂﬂinﬁ!ﬁmﬁti’

{1000
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| Esplain how Production Possibility frontier is used o
solve the cenital problems of an economy. {15}

b

ZATEA WA R g anfarae o @RS e
+ e & 2 o w27 = o=

ta) Discuss the law of demand, Why does demand
curve slopes downward to the right? (1)

win & Frow = mEn Wt W T S A e AN
fwdt g = FAr R 7

(k) What are the inferior goods? Explain. (5)
et ol w2 7w =

What is Price effect? Show diagrammatically that Price
effect is a combination of income effect and
substitution effect in the case of

iy MNormal good and

(i) Inferior good (15}

T W AR S M - S e s s
T AR BT R -

(8) wwea @7 T

! ":#r‘cn:l

& @ F wRe = W

3372 3

4,

What is5 elasticity of demand? Explain the Total
Expenditure {TE) method of measuring Price Elasticity
of Demand. (13)

#tn w1 wtw wm & 7 A A S Fw o e Ao
wm fif o wmEn W

(o) What 13 Economic -E.'nst'and Acgcounting Cost?
(5]
il A W i W B 7

(b} The following is the cost dara of a firm for different
levels of cutput :

b 1l i e o e O
' wafd &

uutpat (Unlts) TPO0 () | Tatal Conts (Ra.) O AT (3.

] T [ e —
I 141

] L]

3 240

q i

Calculate Total Verisble Cost (TVC), Average
Variable Cost (AVC), Average Fixed Cost (AFC),
Average Total Caost (ATC) and Marginel Cost (MC)

{10y
AR, dEE WA A d S S S T w9

P.T.O,
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(&l

L'

Whitt dre the three-stages of law of variable
proportiiens? Explain:with the help of suitable
dihgrams'? (15

wH ufadaiE Avm & A e o) wfrs wrem w5

Explain diagrammaticaily the equilibrium of a firm

under ;:lr:rf|:|::1 competition 1n the short run and long
rin? {E5)

i WE # WA TR WA S m e W ey
HESH W e W

Write short potes on any fwo [T 5x2)
(i) Properties of Indifference curves

{iiy Average Cost and Marginal Cost

(it} Opportunity Cost

{iv} Supply Cuarve of an firm under perfect
Competition

R =1 =1 Hfera = WS
(%) wfiem 3% =+ FEmET
(g) st ErT 9 AAE AEE

= A

fz) il el & wade ow wE oot 9 o

(500}



{This guestion paper contains 4 printed pages.|

Your Roll Mo .

Sr. No. of Question Paper : 3673 C
Unigque Paper Code . 12275301

Name of the Paper . Indian Economy |

Mame of the Course : B.A. (Homs) — CBCS

GENERIC ELECTIVE
IN ECONOMICS
(NEW COURSE)

Semester £

Duration : 3 Hours Maximuom Marks ¢ 75

Instructions for O

I, Write your Roll No. on the top immediately on receipt
of this question paper.

2, Altempt any five questions out of eight.

Y. All questions carry equal marks. 15 marks each,

4. Answers may be written either in English or Hindi:

but the same mediom should be used throughout the

paper.

P.T.O.



3673 2 -
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T FE-TT @ Fed 6 o R Fuifm e o s
g T |

s W @ W arE e Wit |

Trft weel 3w ¥, W S s HE R

T - T o e anvat R e v 3 Sifa, A
T IRl WA T AR e

What are the basic indicators of development?
Elaborate on the characteristics of a Developing
World, (Todarn & Smith)

frermr = aerE G B 7 et fe o) fEwmsi
ot R § W) (2 s )

The Covid-19 pandemic is an unprecedent shock to
the Indian Economy. Give a detai]l account of the
impact of the shock on the various segments of the
economy and the policies announced by central
government and the RBI so far.

i 19 wewEl vl s & T s s
#1 e & fifisr i w s S w3l B aeER
i smoitand w0 W wE WiGE Atew = e § Iee
witfa|

3a73 3

3.

‘Seventy years on from Independence, India's
cducation and health care indicators remain grossly
unsatisfactory’. (Vijay Joshi), Discuss.”

‘wfue W W W W, W o T i wmwem d
W i e A e # (e ) ad e

Despite doing better in terms of the growth af per
capith income, India is falling behind many countrics
in terms of many social ndicators. Discus and compare
Indin’s position in South Asia and the key lessons
learnt.

W e e @ R e v W @ A
v i Al A ® w3 @ 20 ¥ e
#1 =i oftem e o faf d sfE e sEwe
=it g s fdwe =

The labour market Indis hos undergone significant
changes with a sharp increase in young unemplayment.
Do you agree or disagree. Discus in context of
changes in the labor market during the period 2005
2018,

WA WA A, g A i dw af § o s
wferdel 3 @ #1509 WEAE E W SEEAET 2005 - 2018 F
i & S aw o REde @ Il R o

¢
K
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f

Critically analyze the Nehru-Mahalanobis Strategy
elucidating the schievements, shortcoOmings and

misperceptions.

e, R SN TR URMS W AT T §Y R
S TS W A e

‘The reforms of 1991 have played an important role
in mccclerating the growth and performance of the

Indian economy’. Comment,

wm,ﬁ'guﬁfﬁ'ﬂwﬁmm%faﬁmaﬂrmﬁqﬁ
Srg =R s e Frad 0 R il

Briefly explain the impaet of demographic ¢hanges on
a countries growth performance. What are the key
wrends in India’s demographic transition?

it ¥m = P vl U s dREd ® T
w3 e ) w o EeEE T ¥

ot #7

(2000}
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SECTION-B (@= =)

What are the major macroeconomic issues? Explain,
W witomE sl g = 27w

Explain the steps involved in the estimation of GDP
by income approach,

smy gt & ewn g T F e i i
i

Explain why the saving curve slopes upward and
investmenl curve slopes downward in the saving-
investment disgram. Give two examples of the changes
thit would shift the saving curve to the right.

il AT SR R T e s e
FE H A9E A% I A S B I ufiada & @ Em
# o wEE W W EE SR S wan

Suppose that government decides (o reduce transfer
payments but (o increase govermment purchages
of goods and dervices by an equal amount (i.e. AG =
~ATR).

Lh

(i) Would vou expect any change in the equilibrium
iflcome to rise or fall as a result of this change?
If 50, why? Clheck Your answer with the firllowing
numerical example; suppose Lhat, initially, © = (.8,
I=10.25 and ¥, =600 Now let ug assume that
AG =10 and ATR =-10,

th) Find the change in equilibrinm income, A s

m&mlﬁﬁmgﬂﬁmﬁmmﬂmﬁﬂuﬁﬁ
E%wﬂwwﬂmmﬂmwi
w0 v 35 2 {55 AG = —ATR)

(a) AT T ey S o vy ag o af
mﬁaﬂmaﬁi?qﬁ?mmﬁm
A LR B T ———
C=08 1=025 7m Y, = 600 w81 AG=1{0 70
ATR =-10,

(¥) W97 3@ ¥ fewtz (aY,) 5w e

AN inerease in marginal Propensity to impari reduces
the equilibium level of (acome AT apen eoonomy
while wn incredse in autonomays export increases
the equilibrium income. Explain with the help pf
graphs;

P.T.0.
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s #1 ARn st # afe ve we adaen § s &
AHRE T A FH aad § ot e e o afa i agee
g # afe v # are & e @ e #iA)

th, Explmin the Tollowing lerms
(a) Corn Economy
i{b) Full Employment Budget Surplus
fv wEl &1 e Hifae -

(3) = s

(T) v Tromm wwe e

7. Define'the money multiplies. Explain how the creation
af credit by commercial banks can have o multiplier
effect on the money supply in the economy
IEEEE w1 aiewite w0 sren il & e s e
Tl qaw W ) g sdEEen B @ 1 W A

T el B

(2500)
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3.

[ %]
b

s ol
ﬁwinmhﬁiﬁrﬁsmﬂﬁ%m?n
it wel & e W R

ﬂm—wmmﬂaﬁmﬂi&rmmwi‘ﬂme
o = s TR A e e

Can the Gross Domestic Product (GDP) be taken a5
a measuring rod for the development of a nation?
Also. discuss the robustness of the Human
Development Index (HDI) as an indicatar for the

same. {105}

N EEH W Jo {ﬂﬂ.}ﬁﬂ?&lﬂgﬂﬁmﬁ?
e 5w % fr o w7 A 8 e A
& w7 % W few woets (vofland ) ot weh w
i1

Explain, drawing examples from the economies of [ndia
and China, how general structural and political
economy issues influence the course of economie

development af a nation. (15)
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mmmmmﬂ%mmymﬁm
mﬂmnmaﬂrm&mﬂm*ﬂﬁqﬂuqa}mﬁr
firerma # o W B el e #

3. Following is the income distribution in 2 societies -
namely A and B :

A | 1
X [ X ¥
I F T 20
i0 [T In 45
I il 10 £l

where, X = Number of individuals at a particular
income leve]: ¥ = income level

(i} Caleulate the Gini coefficient and coefficient of
variation in the societies A and B,

(i) What can be said about the inequality rankings
and the Lorenz Curves of these two income
distributions?

(iii) Calculate the Flead Count Ratio in society A
and in society B, if the paverly line income in
both societies is 50 units per person for a given
time period, {10.2.3)

P.T:0,



am,gﬁtimmmﬁmi:

- o i
X ¥ X b
1% (E] 1] L
n &l 1 ak
10 (5] w H

aﬁ,x=wﬁhmmwuﬂ%ﬁﬁm Y = ¥

o

(i) ot 3 #k u ¥ Fedl a s e @ s i
T

(i) o & g few @) samr T R A = E

W wm wE W o BT

(iit) st 5 Sk W @ § 8 W w1 W 9
afe S wol ¥ el T o v R .
safiy & Py wie =i 50 gfwe

According to the Harrod-Domar growih model; the
savings rate plays crucial role in determining the
rate of growth of a couniry's per capita income,

whereas the Solow growth model predicts that a higher

savings rate cannol lead to sustsined long-term
per capita ecopomic growth in the absence of

technological progress. Explicate these claims..
{13}
Fw-Bar e Wige @ e, voR W R B A wl
i s R g zoa PR s e s
Frodt #, e @t few dem w e § f a
wfE & aE A T wEe W @ PR W =l S
it e w6 @ wEwr 81 T wdl o wwE =)

{a) Explain the cconomic growth with technical
pragress arising from deliberate innovation fostered

by alloeating resources 1o B&D activity,

{b) Explain how conditional convergence differy
from unconditianal convergence within the
context of the Solow model of etonomic growth.

(10.5)

(%) e v few nRRi & B e & s
R = e e o e L
g % wy wids faww o snen =

P.T.0.
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(7) wffes feew o de dew & dof & wow e d
s fmr v s & & fie v &

Examine, employing & game theoretic model, why
neither the state nor the market is uniformly
successful at sustaining the common property

resources. (15)

o i o e W IR W g, W W o
At T Ml W B wew ween aete el o s wer
% w v R wwa R

{a) Discuss the robustness of Coefficient of Variation

a5 a measure of ineguality,

(b} *Measuring poverty at a local level is
straightforward, a1 the national level it is hard but
manageable, but at the level of the world as &
whole it is extremely difficult.” Discuss.

(5,10)

(7)) o & s @ 5 F e e o waem
o ot i

wm&wiﬂﬁwmt,ﬁﬁmmwam
mwwmvﬂ'ﬂtnﬁﬁ

Write short notes an any two of the following ;

(a) Concept of mobility marrix, drawing imaginary
mobility matrices in gases of perfect maobility and
perfect immobility of countries.

{b} Distinetion between the funciional &nd personal
digtribution of ineome and its importance,

(e} The imperative of secrccy makes corruption more
distortionary than taxes.

{d) Proximate causes for differences in
nations,

incomes af
{7.5x2)

miiﬂwﬁﬂwm&qﬁm.

(=) m*@ﬂﬁﬂm,wmﬂramamaﬁm
wfmmﬁwwmmm
W L%

P.T.0O.
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There are eight guestions in the question paper.
Answer any five guestions.
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All questions carry equal (15) marks.
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Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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While economic growth lays stress on the incomes
people have, cconomit development talks about the
quality of life an jndividusl values to possess. Elaborate
on the statement by bringing out differences berween
the two concepis ihrough suitable examples. Do vou
think development indicators are good metrics of
sustainable development too? Explain, (10,5)
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What do you understand by demographic dividend?
In this context, explain why population explosion
has been a problem in the Indian economy. Discuss
and evaluate the efforts of the Indian governmant 1o
tackle this problem of population explosion in the
country, (35N
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What do you understand by poverty, bath in shsolute
a% woll as relative lerms? 1= income poverty same as
the inequality of income in any society? Explain the
causes of poverty in the Indian economy and highlight
same ol the recent poverty alleviation measures
adopted by the Government of India. (4.2.5.4)
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What have been the wrends and causes of low rates
of capital formation in Indin? Explain the sdving-
investment-growth paradox that has been observed in
the Indian economy, {3.8.4)
s g Bl A e ow F e e wn oo
LR LGl UL LG B R R —
Al

Deficit financing is a necessary evil, Discuss. What
other domestic {internal) sources of fnance are
available with the indian policy makers and plunners?
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What are the major issues involved in the centre-
state fiscal relations in India and what cun be some
suggestions 1o improve them? Highlight some of the
important recommendations of the fourteenth finance
commission in this context. (1O )
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Explam the rationale and the main features of the
Mew Economic Policy of 1991 1o India and 1ts impact
on the Indian economy, (5,10}
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Write short noles on any two ! {752}

{a) Human capital formation

(b} Changes in occupational structore in India since
independence

{c] Relevance of state 1o an open, liberalised Indian
CCOonOmy

{d] Role of fiscal palicy in economic development
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-
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but the same medium should he used throughout the
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Compare and contrast Indin’s performance in terms

of soclal indieators with BRIC countries claborating

on the reasons for India's dismal performance.
{10+5)
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What favourable conditions led 1o the golden ern of
growth from 200308 and what developments led lo
this period coming to an end? {8+7)
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When India began undertaking a sustained program
of economie reform in the early 1990s, the country
faced two gigantic failures of gconomic governance.
What were these two failures and how did they impact
India’s development in the long run? (15}
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The ceseé for stale inlervention is absolutely decisive
in the caze of Traditional Public Health bul fairly
weak in the casc of primary health care. Discuss.

(15)
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What do you understand by the term Demographic
Debt? What are the areas that India needs to focus
on 1o be able to moke the most of the window of
demographic opportunity India is in right now?
{(3+12)
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Cutline the major differcnces in the reform Process
between India and Chine. What fuctors have
contributed towards the Chinese reform process being
mare successiul than Indig? [12+3)
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Debate on the pros and cons of universalization versus
targeting in the context of recent social security
measures in India. Discuss how NREGA has been an
impartant toel of social security despite the challenges
that exist. (6+9)
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Discuss the different dimensions of inequalities that
exisl in India. How does the intersection of gender,
location and social groups exacerbate the paps that
alresdy exist? [12+3)
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() Why production possibality corves are conesve 1o
the trigin? Under what conditions would it be
convex and linear?

(b) What do you understand by mixed econamy?
Explain its main feaiure with reference 1o Indin,
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Following tahle shows the supply to a office per month
by three firms *A', “B* and ‘C' constituting the marker,
Caleulate the market supply schedule,
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(u} IC the price of o commodity falls from Rs. 8 per
unit 1o Ry, 5 per unil, the consumer’s demand
increase from 10 uiits to 16 units, Whal is the
price elasticity of demand for the commodity?

(b) What are the assumptions of indiffercnce curve
analysis? Also explain ()e concept of margmal rite
of substitution,
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What do you mean by the term economics of scale?
Why do these economies lurn into diseconomies?
Diseusss thetr najure and effect on pricing.
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5. Explain the concept of shut-down point. Will a firm
unable 1o gover part of its [ixed ceas¢ production in
short run? Derive the short run supply curve of o
perfectly competitive firm.
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6. How is price determined under monaopolistic
competition 10 long run? Explain with the help of
diggram.
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{n) Describe the expenditure ot edach stage of the
development procesd in terms of efficiency and
equity, (r

{b} “More progressivity implies more deadweight lass™.
Explain this statement and calculate the
deadweighl loss of progressive wxation. (H)
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{a} Explain the method for providing goods that

nre pon-rival m consumption bul excludable in
nature. 9}

(b) Assume mobility cost (5" zero then show how
individual ¢an choose a local authority in which to
res|de. ()
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3. (w) A firm, S, produces steel but also produces wWaste
that contaminstes a nearhy tiver. Steel can he
sold for 810 per ton. The cost fun:l.i.un of the
stee] firm is given DY c s = 5!, where & i% tb:c
'.n;:.:pﬁt of steel In tons, The level of waste, X, {l
pelated 1o output by «=0.1s. & fish form, F is
located dewnstream and is negatively affected by
the waste polluting the water. Ewvery fish praduced
oy the farm can be aold for §2. The cost function
E;f.lhu fish farm is given by el x)= {+x* The
fish farm kas n capacity canstraint ££10,

{i) Compuie the aptimal outpul of the steel
firm Af it makes it decision without any
constraint. Assume now that the firm ?nu;t
compensate the fsmog club members an
amount $q per unit of wasie that is

produced,
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(k) If the probahility of detection is too small explain
the relationship between fine rate and evasion.
(6)
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7. (a) What are the views of Ayush Bajaj and Gaursv
Datt in financing the increased expenditure in lieu
of health and economic crisis caused by Covid-1¥

pandemic? (8}

{h) Elaborate the Mark up rule for seiting price of
Petroleum Oil & Lubricant products and sharing
revenue space between Centre and State i contex!
with DK Srivastave s. (7
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